
1 

 

 

 

LOYOLA COLLEGE (AUTONOMOUS), CHENNAI – 600 034 

          B.A. DEGREE EXAMINATION – ECONOMICS 

SECOND SEMESTER – APRIL 2022 

UEC 2502 – INDIAN ECONOMY – II (2021 BATCH) 
   

 

               Date: 18-06-2022  Dept. No.                                                Max. : 100 Marks 

    Time: 01:00 PM - 04:00 PM                              

     

  

                                                                                   PART – A                                         

Q. No Answer ALL questions 

1. Wire short note on:                                                                               ( 5 x 1  = 5 Marks) 

 (a) Industrialization K1 CO1 

 (b) National Single Window System.  K1 CO1 

 (c) Micro enterprises.  K1 CO1 

 (d) Industrial Estate.  K1 CO1 

 (e) Railroad coordination.  K1 CO1 

2. Choose the correct answer.                                                                      ( 5 x 1  = 5 Marks) 

(a) Industrial pattern on the eve of planning in India was 

(i) Balanced between consumer goods and capital goods 

(ii) Low capital intensive 

(iii) High capital intensive 

(iv) Highly developed medium sized enterprises  

K2 CO1 

(b) Licensing policy was relaxed in India in the year  

(i) 1944 

(ii) 1951 

(iii) 1991 

(iv) 2016 

K2 CO1 

(c) Medium enterprises are with investment  

(i) less than Rs. 1 Cr. 

(ii) between Rs. 1 Cr. To Rs. 5 Cr. 

(iii) between Rs. 5 Cr. to Rs. 10 Cr. 

(iv) more than Rs. 10 Cr 

K2 CO1 

(d) TISCO stands for 

(i) The Iron and Steel Corporation 

(ii) Tata Iron and Steel Company  

(iii) Tamilnadu Iron and Steel Corporation 

(iv) Tamilnadu Industrial Sector Cooperatives  

K2 CO1 

(e) Which one of the following won’t come under service sector  

(i) Transportation                                     (ii)Teaching 

(iii)Tailoring                                              (iv) Telecommunication 

K2 CO1 
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3.  State whether the following statements are TRUE / FALSE         ( 5 x 1  = 5 Marks) 

(a) NITI Aayog has the power to impose policies on states.  K2 CO1 

(b) The New Industrial Policy of 1991 has abolished the Monopoly and 

Restricted Trade Practice Act 1969.  

K2 CO1 

(c) Some of the National Highways are laid under Public Private Partnership 

Schemes.  

K2 CO1 

(d) Sugar and Cement industries are sunrise industries in India.  K2 CO1 

(e) The first railway train in India journeyed between Bombay and Thana.  K2 CO1 

4. Match the following with correct one                                                 ( 5 x 1  = 5 Marks) 

 (a) NITI Aayog MRTP Act  K1 CO1 

 (b) Indian Railways Electronics  K1 CO1 

 (c) Sunrise industries  Health Care  K1 CO1 

 (d) Competition Commission of India Advisory Body  K1 CO1 

 (e) Pharmacy industries Public Sector  K1 CO1 

                                                                                  PART – B                                        

Answer any TWO of the following questions in about 150 words each.           (2 x 10 = 20 Marks)                                                                                     

5. Illustrate the role of industries in economic development of India.  K3 CO2 

6.  Sketch the important features of India’s recent industrial policy.   K3 CO2 

   7.   Relate public, private and cooperative industrial sectors in India. K3 CO2 

   8.  Interpret the objectives of industrial estates in India.  K3 CO2 

PART – C                                          

Answer any TWO of the following questions in about 150 words each.           (2 x 10 = 20 Marks)                                                                                     

9. Classify the major objectives of NITI Aayog.    K4 CO3 

10. Compare small scale industries and large scale industries in India.  K4 CO3 

11. Explain the advantages of Public Private Partnership.         K4 CO3 

12. Analyse the development of Iron and Steel industry in India. K4 CO3 

                                                                             PART – D                                            

Answer any ONE of the following question in about 250 words.                        (2 x 10 = 20 Marks)                                                                                     

13. Evaluate the industrialization under Five Year Plans in India.   K5 CO4 

14. Summarize the salient features of Industrial Policy 1991.  K5 CO4 

                                                                             PART – E                                            

Answer any ONE of the following question in about 250 words.                        (2 x 10 = 20 Marks 

15.  Compile the problems and prospects of MSMEs. K6 CO5 

16. Anticipate the significance of coordination among the different modes of transport 

system in India.  

K6 CO5 
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